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Composite functions
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(Given that f(x) = 4x and g(x) = 5x — 2 and h(x) = 2x?: )
Y P —— gh(x) b) Find the value of gh(2)
2 :
10x%4 - 2 38
c) Find an expression for fg(x) ........................ d) Find the value of fg(3)
20x - 8 52

Practice questions:
Giventhat f(x) =x+2 and g(x) =4 — 2x and h(x) = x?>+5:

k) Find the value of x when ff(x) = 24 ) Find the value of x when fg(x) = 2

n

Exam question:
Given that f(x) = x? + 2x andg(x) = x + 2

Write an expression for fg(x) (x + 2)2 I 2()( + 2)
=x2+4x+4+2x+4
=x2+6x+8




